ID:1210 P- 1
P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% 4 FI054£03 4 02 H eI Dt e/ 89 ku (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]
B3 £ % 15. 00| AHxf 100 1, 500 1,512
X H D e E 12. 00 | #H%f 151 1,812 756 710 432
E O NAK w5 4. 00| fHxf 50 200 1, 836
H % ol 3. 00 [ FH %} 435 1,305| 1,328 959 605
i A ] 1L 1. 00| FHxf 170 170 648 613 432
ENIE s.00| faxt| 27| 135 2,700] 2,540| 2,160
AN ™5 2. 00| FHxf 227 454 1,134 904 648
EEL w5 4. 00 | FH%f 214 856| 1,404| 1,187 972
[ I\ w5 5. 00| FH%f 1, 252 6,260 2,484 1,864 1,404
~_T b= b F ) 3. 00| ¥H%F 55 165 2,160| 2,131| 1,836
o3 w5 5. 00| FH%f 180 900| 1,944| 1,752| 1,512
FEEnE S 10. 00| AHxf 29 290 1,296| 1,087 648
A= 4 AbiEiE 10. 00 [ ¥ 745 7,450 1,404 857 540
B ¥ = 10. 00 | #H % 115 1,150 2,484| 2,176| 1,728
S5 - AbiEiE 20. 00 | #H 5%t 100 2, 000 2, 160
(= % | 10,00 fxt| 06| 3,060 2,592| 1,733 1,080
L& 2 e E 10. 00 | #H%f 608 6,080| 3,024 2,256 1, 350
Y=L F R 5 [ 4. 00| AH%F 485 1,940 1,728 1,518 756
Ty al)— W 6. 00 | FHf 421 2,526| 2,538 2,239 864
ENIE 6.oo| fxt| 9o se] | 2,592
AMEE (i 0. 10| #Hxf | 2, 150 215 162 122 65
ZDEH £ ¥ 0. 20 [ #Hx} 720 144 76 56 43
LU E % 0. 20 | FHx} 450 90 81 74 59




ID:1210 pP- 2

P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A F1054£03 H 02 H EFER S 25 kv (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 345 3,450 4,860 4,019 3,240

Cimigii) %O 10. 00 | #H%f 200 2, 000 2, 700

5 U H & 10. 00 | #H%f 581 5,810\ 4,104| 3,353 1,728

T AT E— = B 0. 25| FH%f 292 73 421 361 270

HEBR D & [ 0. 27 | ¥} 3, 363 906| 1,188 567 454

S X EF I 0. 25| FHx} 9, 659 2, 422 540 452 270

RIHD Y £ IR 0. 25| FHx} 3, 724 932 486 382 302




